Komunikacijska elektronika

3.1 In the network in the figure derive the expression for U
in terms of the inputs U; and Us.
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3.2 Find U, in the circuit
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3.3 Find {J, in the circuit
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3.4 Determine the expression for the output voltage, J,, of
the inverting summer circuit
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3.9 Determine the output voltage, U,, of the noninverting
- averaging circuit
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3.6 Find the input/output relationship for the current
amplifier
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3.7 Find U, in the circuit

SOLUTION:
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3.8 Find {, in the circuit
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3.9 Find the expression for U, in the differential amplifier

circuit
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3.10 Find U, in the circuit
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3.11Find the output voltage, U,, in the circuit

SOLUTION:
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3.12 Given a box of 10-k() resistors and an op-amp, design a
- circuit that will have an output voltage of
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3.13 Design an op-amp circuit that has a gain of —50 using
resistors no smaller than 1 k().
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3.14 Design a two-stage op-amp network that has a gain
of —50,000 while drawing no current into its input
terminal. Use no resistors smaller than 1 k().
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15
3.15 Design an op-amp circuit that has the following
input/output relationship:
Uo = _5 Ul + O.5U2
SOLUTION: '
R single op —amp wiil 4, Af wt ual bedn 4 4 - lnpud
ket ok Uy
[JLUX_ :‘—[.J_>_< = U)‘ = \2;5.__
Us En ta ? fj—z_ \Zk’c@g
ke ax U ,
Us U Ul
Fo =y

- Us = Ux (H’%)* \ZZU;

Uo = ”E’_—)(—@ﬁﬂ L=y
TZ( z—k'?'?”?) Q (’21 l

S, 'Fz/iz‘=5 | Chorae =l > Py= Sk

Now, bl - Chesre Bp= ki = Za=n\\](L
tatlp 2




16 Komunikacijska elektronika

- 3.16 Design an op-amp-based circuit to produce the function

U, = 5U1 - 4U2
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3.17 Given the summing amplifier shown in the figure
select the values of R, that will produce an output
voltage of =3 V.
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3.18 Determine the output voltage U, of the summing
Op-amp circuit
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